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CABLE DESIGN FORMULAS 
PERCENT OF SHIELD COVERAGE 
Percent coverage = (2F-F2) x  100 

F= NPd/Sin a 
N= Number of ends (strands) per carrier 

P= Picks per inch 
D= Diameter over dielectric core in inches 
d= Diameter of shielding strand in inches 
a= The smaller of the two angles between 
the longitudinal axis of the cable and  the 

lay of the braid 
C= Number of carriers (groups of ends 
around the diameter of the cable) in a 

‘two over’ two under’ woven basket weave 
Tan a+ 2TT (D + 2d) P/C 

 
AWG Size     d (Inches)           W (lbs./Mft) 

#40                0.0031                 0.0291 
#38                0.0040                 0.0481 
#36                0.0050                 0.0757 
#34                0.0063                 0.120 
#32                0.0080                 0.194 
#30                0.0100                 0.303 

DIAMETER OF SHIELD 
Adders for determining diameter over the shield of a multiconductor cable. 

Shield OD = Diameter under shield + Adder 
                              AWD SIZE (Braid)                                                                          Adder (inches) 

#40 
#38 
#36 
#34 
#32 
#30 
#28 

 

0.014 
0.018 
0.022 
0.028 
0.035 
0.044 
0.056 

PROPERTY VALUES (NOMINAL) 
MATERIAL                                           SPECIFIC GRAVITY                          K. 1Mc                                                    MAX. Oper Temp º C 
TFE 
FEP 
Polyvinyldene Fluoride 
FEP/Polyimide Film 
Polyester Film 
Semirigid PVC 
PVC 
Neoprene 
EP Rubber 
Fire Resistant PE 
Polyethylene/PE film 
Polysulfone 
Polyurethane 
Nylon 
Polyethylene PE 
Polypropylene 
Cellular Polyethylene 
 

2.15 
2.15 
1.76 
1.67 
1.40 
1.39 
1.38 
1.38 
1.30 
1.29 
1.26 
1.24 
1.12 
1.09 
0.92 
0.91 
0.55 
 

1.95 
2.15 
7.5 
2.35 
2.80 
4.0 
4.6 
- 
3.7 
2.7 
2.8 
3.3 
- 
4.8 
2.26 
2.30 
1.50 
 

260 
200 
125 
200 
150 
80 
105 
60 
105 
80 
105 
125 
80 
105 
80 
80 
80 
 

Twisting Loss 
Approximately 3% for all cables 

Weight of shield 
Weight = N X C X W   x 1.03 = pounds/1000ft.  

N = number of  ends per carrier 
C = number of  carriers 

W = weight of on the shielding strands (lbs/100ft. ) 
A = Braid angle 
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